OLWVIJRVIZD 3RIVNL Z SiNZDQLX -XQLRUyZ Ot 0D
= CELFD
- RONXUHQFID " JHZF]al P JUJEIHIRZ\ 0D
= \QINL (0LPLQDFIH
3XQNIN ),1$
3R]\FID 5RN XU &]DV 3NIl P P
&,(§/%- -RDQQD - $57% 3R]QDE $
6=&=<5%%$. .RUQHID -25"$1 _UDNyZ $
3$%,$1 $IQHVIND -25"3$1 _UDNyZ $
1% - $5<€6.$ -DIDUJ\QD 65 0.6 606 9,&725,$ 5DFIEYU] $
75(3.%$ .DURIQD *0 856<1T: -DW]DZD $
.,6,(/ ORQIND 62 026!5 O\ViRZIFH $
/(03%$57 ODUID 3,A7.% &KRU]yZ $
%85$5&=<€6.$ $GUDQQD 62 81,% 2GZICFIP $
=23,(5%a$ .DIRIQD 73 2/,03,-&=<. $IHNVDQGUyZ ayG %
3$-a2:-6.$0DUD 3ICIQDVIND $48% %\GJIRV]F] %
12:-26%" .DIDUJ\QD .0,7% =DEIHI]yZ %
.81.% .DPID *26(5 3IDVHF]QR %
62 - $ ODUID -25"$1 .UDNyZ %
583$ 3DIU\FID ,-$5 OLHIHF %
*52"=_% ODUD z,.,1* 7RPDV]yZ OD] %
ta2"$58&=<. (ZHIQD 6.6 67$57 ayGl %
%~ 1$5(. 3DXIQD 3,A7.% -RQVIDQNQyZ 5
*5$%$5&=<. "RPIQIND *0 856<1T1: zDW]DZD 5
$17&=%. = INIRUD 6+$5. 5XGQD
= =,( = $ $HNVDQGUD /," (5 &KHiP
0%$&,8&+ .DURIQD 9(*$ "REURG]IHE
%$5$1 -XVINQD 0.3 6]F]HFIQ
*T5%$/&=<. 1INRIQD 8.6 63 &KUIDOyZ
6=<0%$&6.$ ORQIND 73 2/,03,-&=<. $IHNVDQGlyZ ayG
0%~ (- .1QID * (/),1 7DUQREU]IHJ
2/,66.$ - INIRUD 32/21,%$ zDW]DZD
6</z (675=$. ,]DEHID $=6 $ )6 *GDEVN
5<087 *DEUHID %2%5< " CELFD
.2.$7.2:6.%$ DD -25"$1 _UDNyZ
5<&=$. ODID $6725,% %\GJIRV]F]
" <021 ,]DEHID z2"1,. 5DGRP
./(0&=<&6_$ ODJIGD -89(1,$ - RFiDZ
327¢3$ -DURIQD -25"$1 .UDNyZ
T(/(&+2:6.$0DUD T2/,%25= z DW]DZD
Z<62&.%$ -DURIQD -89(1,%$ %DAVIRN
7 .$&=8. ODJGDIHQD -25025%$1 2V]NQ
5%$0,$1 $QQD .2521% 6,0 .IHFH
- <52%( . ODUNQD * /86 *IRZIFH
6SIDVK OHHI ODQDJIHU  %X1IG SHIVIHUHG IR 3RIVK 6ZLPPLQJ YHGHUDIIRQ 6IURQD



